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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1_20 1030 11 3.6 20 55.2 100

21 1026 2.6 1.3 4 66 99.6

22 1026 4.4 1.8 8 55.4 99.6

23 1028 4.4 1.8 8 55.2 99.8

24 1017 3.1 1.7 6 51.5 98.7

25 1021 3.3 1.4 6 54.9 99.1

26 1005 1.5 1.1 4 36.6 97.6

27 1011 1.9 1.3 4 46.3 98
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Q 23 (b) With reference to the example above assess the extent to which it is only 
producers who can benefit from price discrimination. [6]


Band 
AO2 AO3 AO4 


2 marks 2 marks 2 marks 


2 2 marks 
 


Good application 
 
Case is used 
effectively to support 
the argument in the 
analysis 
 
The data is well-used 
to support the 
assessment 


2 marks 
 


Good analysis 
 
Strong line(s) of argument 
showing that there is clear 
evidence that price 
discrimination can benefit 
producers 


2 marks 
 


Good evaluation 
 
Strong counterargument 
demonstarting clearly why price 
discrimination might benefit other 
groups 
 
A clear chain of argument is 
present 


1 1 mark 
 


Limited application 
 
Data is used, but its 
use is 
underdeveloped, 
perhaps taking the 
form of occasional 
references rather 
than forming strong 
supporting evidence 


1 mark 
 


Limited analysis 
 
There is a chain of 
reasoning, but it is less 
convincing in its attempt 
to prove that price 
discrimination can benefit 
producers 


1 mark 
 


Limited evaluation 
 
Counterarguments are present, but 
none of them are well-developed 


0 0 marks 
 


No valid application 


0 marks 
 


No valid analysis 


0 marks 
 
No valid evaluation 


 
  







 


 


Indicative content: 
 
Price discrimination will benefit producers because their profit will be higher than if the same 
price were charged to all train passengers using first class. Weekend demand for first class 
would be low because of fewer business travellers thus filling otherwise empty seats with 
upgrades will add more to revenue than to costs. Marginal revenue is greater than marginal 
costs. 
 
Producers also benefit by spreading demand away from overcrowded standard class 
carriages, helping to improve their image. 
 
A diagram showing benefits to consumers and producers may be used to support AO3 and 
4, but this is not essential. 
 


 
BUT 
 
Price discrimination will benefit some consumers because at normal prices they would not 
be able to afford first class travel. 
 
Extension of benefits to a lower-income group leads to an increase in overall consumer and 
community surplus. 
 
Passengers may benefit because there will be lower demand in standard class, making them 
more likely to be able to get a seat. 
 
Higher profits from price discrimination can improve the quality of passsenger 
services thus benefitting rail users. 


£ 
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Sticky Note

This is a good answer where the data on price discrimination is used well to show it can benefit the producers as well as the consumers. The use of economic theory is excellent with consumer and producer surplus integrated into the analysis and evaluation as well as marginal cost and utility.
A02 2 AO3 2 AO4 2 = 6
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Sticky Note

This is a good answer with strong application to the example given. Benefits to both producers and consumers are clearly explained. Perhaps more use of economic theory would have enhanced the answer a little more ie the introduction of price elasticity of demand.
AO2 2 AO3 2 AO4 2 = 6
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Sticky Note

The first paragraph is a little unclear but there is some indication that the candidate understands that price inelastic demand in the weekdays leads to increases revenue for producers. The second paragraph is a little clearer showing that consumers benefit at the weekend with lower prices increasing the consumer surplus.
AO2 1 AO3 1 AO4 1 =3 
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Examiner
only


23.	 On the railway link between London and South Wales, the train company GWR allows passengers 
at the weekend to upgrade from Standard Class to First Class for £15. During the working week 
First Class travel is far more expensive.


	 (a)	 Outline why this is an example of price discrimination.	 [2]


	


	


	


	


	 (b)	 With reference to the example above assess the extent to which it is 	only producers who 
can benefit from price discrimination.	 [6]
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Q. 24 Adapt the diagram below, to show the change in the profits of Volvo’s 
truck/lorry division, as described in the article. Give reasons for the changes 
you make. [6]


Band 
AO1 AO2 


4 marks 2 marks 


2 3-4 marks 
 


Good understanding 
 
Correct adaptation of the diagram to 
illustrate the rise in Volvo’s profits 
 
May contain minor errors


2 marks 
 


Good application 
 
Data is used effectively to support the 
diagram, picking up on both revenue and 
cost effects 


1 1-2 marks 
 


Limited understanding 
 
Limited adaptation  of the diagram to 
illustrate rise in Volvo’s profits 
 
Significant errors 


1 mark 
 


Limited application 
 
Data is used, but its use is underdeveloped, 
perhaps looking only at either costs or 
revenue 


0 0 marks 
 
No valid knowledge  


0 marks 
 
No valid application 


 


Indicative content: 
 
Diagram 
 
AR/MR shift left. 
AC shifts down. 
New output shown based on candidate’s own plausible assumptions of firm’s objectives  
Appropriate change in profit is shown.  
 


Reasons 
 


The fall in AR and MR is linked to the decline in demand in the North American heavy 
vehicle market.  
The fall in AC is linked to positive cost developments (fall in fixed costs). 
Falling fixed costs lead to rising supernormal profit. 
Allow fall in MC if diagram is otherwise correct. 
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Sticky Note

With the adaption of the diagram the candidate did not shift MR to the left and also left the quantity unchanged. The reasons for the changes to the diagram were identified correctly from the data ie falling truck sales reducing demand (AR) and falling fixed costs shifting the AC curve.
AO1 2 AO2 2 =4
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Sticky Note

The candidate does not shift the MR and also leaves the quantity unchanged. The data is used well to explain the fall in fixed costs (AC shifting to AC1) and the rise in abnormal profit (costs have fallen more than sales).
AO1 2 AO2 2 =4
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Sticky Note

The candidate does not shift the MR and also leaves the quantity unchanged. The data is used well to explain the fall in fixed costs (AC shifting to AC1) and the rise in abnormal profit (costs have fallen more than sales).  In the reasons a fall in fixed costs is mentioned which causes a rise in the firm's profits
AO1 2 AO2 2 =4
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Examiner


only
24.	 Volvo’s cost-cutting programme delivers profits boost as the Swedish truckmaker 


overcomes decline in North American market


	 Despite the decline in demand in the North American heavy vehicle 
market, Volvo Group has been able to increase its profits in the US.


	 Commenting on Volvo’s results, Volvo’s Chief Executive Martin 
Lundstedt said: “In the second quarter we were able to continue the 
improvement of our underlying profitability despite declining sales, 
thanks to significant fixed cost reductions.”


	 Adapt the diagram below to show the change in the profits of Volvo’s truck/lorry division, as 
described in the article. Give reasons for the changes you make.	 [6]


© WJEC CBAC Ltd.
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Q. 25 Discuss the extent to which the Japanese government should be concerned 
by the trends in its total government debt shown in the table.  [6]


Band 
AO2 AO3 AO4 


2 marks 2 marks 2 marks 


2 2 marks 
 


Good application 
 
Case is used effectively 
to support the argument 
in the analysis 
 
The data is well-used 
throughout the discussion 


2 marks 
 


Good analysis 
 
Strong line(s) of 
argument using economic 
theory 
  


2 marks 
 


Good evaluation 
 
Strong counterargument 
  
A clear chain of argument 
is present and the answer 
has a reasoned 
judgement 


1 1 mark 
 


Limited application 
 
Data is used, but its use 
is underdeveloped, 
perhaps taking the form 
of occasional references 
rather than forming strong 
supporting evidence 


1 mark 
 


Limited analysis 
 
There is a chain of 
reasoning, but it is less 
convincing  


1 mark 
 


Limited evaluation 
 
Counterarguments are 
present, but none of them 
are well-developed, or the 
answer simply has 
arguments for and 
against 


0 0 marks 
 
No valid application  


0 marks 
 
No valid analysis 


0 marks 
 
No valid evaluation  


 
Indicative content: 
 
AO2 


 Japan’s debt has quadrupled as a proportion of GDP over the period 
 Japan is more indebted than Greece in relative terms 
 The US debt has only doubled over the period starting from the same base 
 Japan’s debt has risen far faster than that of other advanced economies 
 The trend has been ever-upwards (except in the mid-noughties) 


Allow other appropriate comments on the data that are used to support arguments. 
 
AO3 
Debt is concerning because of: 


 Danger of crowding out  
 Risk of debt downgrade 
 Opportunity cost of debt interest 
 Risk of default 


Allow other plausible reasons for concern. 
 
AO4 
Concern is lower because: 


 Global interest rates are currently very low 
 Japan has clearly been managing for some time 
 Most Japanese debt is internal to Japan 
 Japan is powerful enough to withstand default/restructure on favourable terms 


Allow other plausible evaluative points. 
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Sticky Note

The data is used well to support the answer and the candidate makes a strong case supporting the view that the level of Japanese public debt is a concern. However, the evaluation is weak which spoils an otherwise good answer.
AO2 2 AO3 2 AO4 1 = 5
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Sticky Note

The first sentence is worth one AO2 mark but thereafter the answer is confused and doesn’t answer the question. There is some vague analysis of the problems of debt ie high government spending/borrowing needing to be financed from the private sector. There is an attempt at evaluation but it is not credit worthy.
AO2 1 AO3 1 AO4 0 = 2
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Sticky Note

There is good application of the data and some credit was given for the unclear assertion that the rising public debt was a concern if caused by structural fiscal deficits. There was no evaluation.
AO2 2 AO3 1 AO4 0 = 3 
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25.	 Study the data below and answer the question that follows.


1990 1995 2000 2005 2010 2015
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250 Japan
Greece
OECD average
United States


Japan’s fiscal situation has deteriorated rapidly


Total government debt as a % of GDP


	 Discuss the extent to which the Japanese government should be concerned by the trends in its 
total government debt shown in the chart.	 [6]
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